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Topic:- Child Development & Pedagogy (CDP)

1) Albert Bandura was a proponent of which perspective of personalities? / 3[ea¢ g1 HfaIa &
fora aitliey & gearas A2

1. Humanistic/ ATIAIG!

2. Behaviorist / IGgRaTd!
3. Psychoanalytic / TRy
4. Social cognitive / HTHTID HHHTHD

Correct Answer :-

« Social cognitive / HTHIDH HJHTHD

2) The differences observed among different human groups are typically ./
faftra e IgEl & i 39 9H 9 SR I GOk
1. genetic / GI'I_:],HT&W (@lﬁﬁ@

2. cultural / ﬂm
3. artificial / PAH
4. heredity / IRITIHH (%m

Correct Answer :-

« cultural / m

3) Success of Inclusive Education depends most importantly on: / TR fRrem &t Tweran
e Agayul &0 I 39 R R wedt 8

1. High quality textbooks / 3= T[UTGT Ci ‘ZHBTIW
2. High quality teaching learning materials / 3= T[UTddl D1 fRreror siferTa Qg



3. Community Support / Wmﬂﬂ%ﬁ
4. Additional change among teachers / fRrefent & T sifaRked sqama

Correct Answer :-

« Additional change among teachers / fRrerent & 9 sfaRked sqama

4) Kohlberg and his associate postulate stages in moral development
divided into three major levels. /

PIgai 3R 376 Geai ST a8 fh Afow farrgd | srawumsi &)
F vE &R A fyvrfera frar man 21

1. Two /Gl
2.Six / 9%
3. Nine /1
4. Four / dIR

Correct Answer :-

. Six /9%

5) Development never stops. This statement emphasizes the principle of: /

faera o 78t voa1 | g8 oY= e Rigida wER gar &:
1. Integration / TDHIHRUT

2. Individual differences / TG AANG

3. Uniform pattern / ThIHIT Te

4. Continuity / fARGRaT

Correct Answer :-

o Continuity / [GEGEGI

6) Learning to drive a car, singing or memorizing a poem or mathematical table etc need exercise
and repetition of various actions and movements many times. These cases of human learning which
involve the connections in the brain being strengthened or weakened are part of which law of learning
by Thorndike? /

PR, it a1 a1 Hfaar ar 7 arfereT enfe @) are W & fore 3 ar s ok fafts srat
TYT T & GARIGRI P STaRgHar gl 8 | Aa R & 39wl 8, aferss & Yy weiga a1
PUSR B4 8, T8 S5 & MRATH BT H=-I1 g 32



1. Law of exercise / 3319 &1 a9
2. Law of effect / WHTd &1 fAgg

3. Law of readiness / IRdl T g
4. Law of Attitude / 3T¥gfi &1 fam

Correct Answer :-

+ Law of exercise / 33 &1 g0

7) The function of Educational guidance is: /ﬁf&l’fﬁ 'FI'I"'fa"\’f:f Cal Wﬁ%

1. getting the best out of education/ fRrenm &1 Tafas oy <A

2. understanding the philosophy of great educators/ HgI- e/t & g2 & HHHAATI

3. giving occupational information/ TS SHBRT GT|

4. inculcating social interaction among the students/ B & e HTSTS Hasid EEGIE

Correct Answer :-

 getting the best out of education/ 218 T garaH a1y <1l

8) The best method to study diversity among pupils is through method /
faenfial & e fRya T s FTIeR sTadter . fafar gl
1. Introspection / STETRIETT

2. Experimental / TORTIH®

3. Observation / 3facia

4. Case study / HY Tl

Correct Answer :-

e Observation / KICNIEE

9) Cephalocaudal means: / Awalbsd o1 Y 3:
1. Head to toe / RRI W

2. Whole to part/tj:Uf@f HifR1D

3. General to specific / ITHN ¥ fafere

4. Center to periphery / CE-RIND

Correct Answer :-

o Head to toe / RRI W



10) Whose theory focuses on the culture in which a child grows up in? /

frae Risia Twpfa iR Fd wear o t@ san ssT a2
1. Fromm / W19

2. Freud / HITS

3. Vygotsky / ATgTIca]

4. Kohlberg / HIgaar

Correct Answer :-

» Vygotsky / CIEUISIED

11) A child learns to stand up only when a teacher enters the room and not when a student or any
other adult does. What principle of learning explains this behavior? /

TP 1 pad aHt W1 g1 & o9 e FAY § 9aw Hd71 ¢ 7 {6 &d IS s AT DS 3
JUD YA HdT ¢ | ST F1 Hi9 1 Rigia 539 SUagR ) TS BT 872

1. Stimulus discrimination / 3&I4& fAHEIHROT
2. Stimulus generalization / Sg U ATHRITHROT

3. Stimulus response / 3& U Gﬁﬁﬂ'{
4. Stimulus observation / G‘a"rw e

Correct Answer :-

« Stimulus discrimination / &1 faIH0T

12) What would an intelligence test that deals with experiences common to all cultures be called? /

TP g wieror ar ghm it gaft T faat & qra srgvat | Tefia 872
1. Culture forward test / G¥pTd SHUH TRI&OT

2. Culture biased test / ST G&UTCT TRI&0T

3. Culture free test / S Td Jard URT&UT

4. Culture fair test / S¥apidl feges TRiefor

Correct Answer :-

« Culture fair test / S¥pidl wer ulefor

13) What types of questions assess knowledge of general information in an intelligence test? /

TS gf Ueur # I SHSRI & 1 &1 Jeaie- (59 TSR & U4 HId 82



1. Comprehension / dg1
2. Information / T
3. Similarities / HEY

4. Proverbs / deldd

Correct Answer :-

 Information / T

14) What is most true mental health problems? / HaQ IR<fI® AP WY XY T 87

1. Mental health problems means unable to do work./ HR% WAl Ga3f &1 Adad HH & J

ST A B

2. Mental health problems means unable to recognize people and things around. / RS Ry I
&1 37 B, AN STR SHIUT BT dToll DI Tg! Tga=H|

3. Mental health problems can affect the way we think, feel and behave./ RIS Wy T, Btlﬁ
I, HEYH B 3R HGER HRA &b a1 P YT HR Jhall & |

4. Mental health problems can affect the way we respond./ OHR% W T SHI\{ STaTd G o Rl

P gHIad PR bl g |

Correct Answer :-

» Mental health problems can affect the way we think, feel and behave./ AHRS Wy I, Etlﬁ
TreH, AEH B 3R HGER HRA &b Rl P YHTId B Jhell & |

15) What type of intelligence is likely to be used during a game of cricket? /

fohthe & W & SR, 5T UpR o1 gfgwar & Iud fre o &) GHTaaT 82
1. Bodily-kinesthetic intelligence / RIS -TTfoadl @@ﬂﬁ

2. Naturalistic intelligence / WTHTA® FfgH

3. Musical intelligence / Sifid Seieh gfgae

4. Linguistic intelligence / 41T et g

Correct Answer :-

« Bodily-kinesthetic intelligence / TR -Tfada< g

16) Apart from formative assessment, another type of assessment that provides insight about the
sufficiency of instructional materials is: / YAITCH® HTHAT P ATdT, Th T UHR BT ATHAT ol
=TT A @t yaterdr $ R § Siaei® UerH $Rdl o

1. Diagnostic Assessment / FaHED 3HTha-

2. Interim Assessment / 3fdRH 3THad



3. Summative Assessment / q\I‘IId-IOb NICTNE

4. Entrance Assessment / TR 3MTH

Correct Answer :-

e Interim Assessment / 3fARH 3Ha

17) Zone of proximal development refers to: / T fawrT &1 aﬁ ﬂ?{f\‘h DIl %:

1. What learners have not yet developed / fRremeff 7 anft 9 w1 fawfa el foear %?

2. What learners can do with or without help / ﬁT&ﬂ?ﬁﬂ_ﬁqﬂT & TIY T 39 o1 R H bl %?
3. What learners are able to do proximally? / fRremelf giiufy a1 B & e %?

4. What learners are able to do distally / ﬁT&ﬂQﬁ:W T B | J&H %'?

Correct Answer :-

« What learners can do with or without help / Rremff Terrar & T1 a1 I o1 a1 HR T &2
18) Pedagogy is the study of ./ Rrgmame cafctson iof

1. Learning process / 3T Ufeha

2. Teaching method / fRr&for fafdr

3. Guiding students / ST ®I TMSS HRAT

4. Education / TRr&

Correct Answer :-

« Teaching method / fRr&for fafdr

19) Harry loves solving puzzles everyday as he finds solving puzzles fun and exciting. This is an

example for motivation. / %ﬁﬁmﬁ?@mﬁmmmm%maﬁ
ot & AT TGS 3R AATTS a1 3 |1 T8 URUTT &1 TP SGI6TYI 3|

1. intrinsic / &fa’-iﬂ

2. extrinsic / dl&]

3. fear-based / Y-SR

4. power-based / TIfad-3UTRd

Correct Answer :-

e intrinsic / &H%

20) Who argues that the mediation of someone more knowledgeable is vital in learning? /



P dd gl § for foredt Bt werwyan, sifre gfag siferm & wgayquf 82
1. Piaget/fq'ql@f
2. Erikson / 3R&HG

3. Freud / oIS

4. Vygotsky / CIEUIRSED

Correct Answer :-

* Vygotsky / alglilf\‘:l$|

21) Who proposed the idea of fluid and crystallised intelligence? / dX¢l AR I m & faar
1 Y9 fpa- @

1. Cattell / B

2. Gardner / SR
3. Sternberg / et
4. Guilford / FreTTs

Correct Answer :-

e Cattell/ Hed

22) Adolescence means: / fop=nRTa=T BT 3 Qf% :
1. To do work / hTH D]

2. To grow / de-l

3.To pIay/@FFIT

4. To study / &Y HIAT

Correct Answer :-

o Togrow / de-l

23) CANCELLED

Beliefs about fundamental categories and properties of world are
gfrar & 7@ AfraT iR o & AR faym, 2l

1. Epistemic beliefs / SIJHIHIPH fayr

2. Epistemological beliefs / IHHHR fayr

3. Ontological beliefs/ ITHcIh fayra



4. Axiological beliefs / H@W’q fayra

Correct Answer :-

» Ontological beliefs/ JdTHIP EEIR]

24) Symposium is a type of / EMY (RFforaw) v yoR &1 gl
1. Demonstration method /Wﬁm

2. Lecture method /@T@Jﬁﬁﬁ[

3. Discussion method /W—ﬁﬂ'ﬂfﬁﬁ[

4. Discovery method /@Tﬂ fafer

Correct Answer :-

« Discussion method /ﬁaﬁ—mﬁﬁ[

25) According to Vygotsky, the major emphasis for cognitive development is: /
TP S TR, G (Ao & R Tqa wR @

1. education / frem

2. religion / ef

3. intelligence quotient / m
4. social factors / TS TRfRIfad

Correct Answer :-

« social factors / ITHITTS TRIRUTT

26) The aim of scientific investigation is to provide students opportunities: / ail'lﬁﬁ? S &1
IR B! B AT 3R UgH H7A18:

1. cognitive processes only / Had IETHESD fharsff

2. to use concepts only / Had AHTURUNS BT ITAN B B fam

3. skills to solve problems only / Had TS BT 8 A B fam DI
4. all of the above / SURTad Gt

Correct Answer :-

« all of the above / TR IHt

27) A child suffering from dysgraphia has: / feanfrar a4 dﬁmaﬁ aﬁﬁ'ﬂlﬁ?ﬁ %:



1. Language difficulties / HTST T Hfes

2. Low mathematical abilities / S IO emram

3. Reading difficulties / M(f,:I H d?lrc\b"ll‘g
4. Writing difficulties / fora & &feArs

Correct Answer :-

« Writing difficulties / forRa H Sfeg

28) Learning by Project Method is technically known as: / TISTAT (tlﬁ'!ﬁTﬂT) faftr g Srftrm
TH-NP! TU A Hgarm 8

1. Adequate Iearning/q?ﬁl?[ ST

2. Efficient learning / THTGT ST

3. Incidental Iearning/m ST
4. Systematic learning / SIaIRUd 31fTH

Correct Answer :-

 Incidental Iearning/m ST

29) With respect to Principles of Child development which of the following is false? /

frafafaa # Q@ 19 99 I & Rigial & S9y A oI 82

1. Development depends on maturation and learning /W, gRUSHdT 3R T IR AR
FRAT B

2. Development proceeds from specific to general /W, ﬁfﬁ@m@rwﬂmﬁr \#RWT%I

3. Development proceeds from simple to complex / IrEIObN-I, IR § Sfeadl ot aﬁwm%
4, Development proceeds from top to bottom /ﬁw, $A Y A B WW%I

Correct Answer :-

« Development proceeds from specific to general /ﬁw, fafRryar @ =T ot Gh?WT%I

30) Typically, children create gender stereotypes by ./ SMHAR R, T forr
ey s &
1. not socializing due to gender-specific activities / feT-fafery fafafeal & SR THIHR 781 g R

2. focusing on the negative attributes of the opposite gender / fau<ia feiT & THRTHD {'[Uﬁ R &9 diad
DY

3. maintaining gender-neutral friendships with children of both sexes / S ol & =t & ary fofr-fer
ST ST TGHY



4. sexualizing peers of both genders / QI [T & TR & HIEHAT STHR

Correct Answer :-

« focusing on the negative attributes of the opposite gender / fausia fei & THRIAD ‘IUﬁ R &H diad

Topic:- General Hindi (L1GH)

1) TH TR AUR & Heq A RU & an it Righ dgar 8 18 a@F gadt vw Iuf~a=n & am o g ar
TR YU USTI 9 AWIBT F NYFAP 7oA 1 1R A 3@ @t MUl gar ga7m {6 sarerar 330 @) Harg
el 3zar & g1 U1 A @ 9 fredt o A Wi Yt wia & 811 1885 § v i 7 wfwar o | el
3T SFIPT HETSR P MU H dic fUT| 39 98 T 3PP & WIear ¢ &1 WATE et Yarsi & g9 1)
et wafkml & 819 areft uer Fur 31 st # fisiRe & Ierevvr | vdr ad«r @ fr fra e A ue
A fft Yyumr & wfda & Teftezor & U TR R gUIfad % GFdl 31 BIBT 37T HETSRT T S8l uR
S 3R WAl o1 3rpd YeR 4TI AT @1 Wit 3R IR | o9 HHA & fore snptet uga 21 afea
32 981 Toigdl 3t Ut ot Saeht vt 98T v ok S wuwn 3 <ft i w1 Agar 37 & qrasg
BT TE1 BT ATed A1 AT SNBIPHT DI ATEISE 9gd B At 3R T8T Uy T Y goig A ARN Bl
TRXd ST A gt 3 STt Y | I 39 919 B FIS oewd g el A fr 1w & fore s w3

TR AT A SPIHT & A &l I IR a1 & I #3 a8 v 399 4 99 -1 @ M g1 e R
ST e ST T 1T foF S/ A 9t g ST HR U A S Wl 3R ARTH § BT FRd A1 STRIRBR
& BTA B ded fear T 3« fusdt ot ufvar &1 te 8t Jew Tl &1 STRIfUSRT a9 Gddr 411 399 3
NN Y ASIg! B R 918 §IHT USTI GTH § BTH H- ard JolgRl bt hud & Hiaw g1 ar oimen o1 3R 35
AT gHA ®1 Ze Tl | RSIUT BT pIdhT | T 1880 & GRS & ATRAR T 3T UTI IT SR 3 WSt
F 1y 3ms At <Y fafexr wRmr A a@e 1w A1 T 39 sferm Afwl #Y wee F f fvar mar ur ot gdf
SpieT B TR W Smepur w7 38 A1 et R ifdpet & fandt Sivra oY omt 3t ave b w151 1892 3ma
3Td a5 AR erpieT & ufndt ae 9 uga gt A

ST TR B UG 19 YR T U= P Ik Ia13¢|
Y AT AT AGTATT ¢ & A1a9IG T Tal BT a18d 42
1. B

2.0
3. 3RMH

4, foran

Correct Answer :-

2) TP W AR & b | GRIU $ a1 o it dgaw g1 18 df godl T IJufa=n & dRl R 5991
R YUTT USTI 9 AWIHT & AMYFP TaR &I TR & @ dF Mye) uar gan fF sarerar 320 @1 g
Weft 3zar & &1 VT A @ o frelt o A W Yart wia & 811 1885 § v 7 wfwar ol o el
3T SFIPT HETSR P MU H dic fUT| 39 v T 3PP & WTear <Xl &1 WATE Aieht Yarsi & g9 1)
f¥eviwe 7afdmEl o g9 arclt T Fu 21 anfle A et F I A uaTaaa & fr P Re A &
Fart feelt YT § ey & Fiieor & U IR W THIRT ST Fobdl |1 SPYRT AT HETSW AT WiEl W)
S SR Wil o1 fpd USR 4TI QR @Rt Wi ok Tl | 4 FHM & fig snpteT uga A1 afea
32 981 gyl 3t Ut ot Saht vt 98T v ok o) wuwn ¥ <At i wiritg @i Agar 37 & qrasg
P TE BT ATed A1 GRS SNBIPHT DI ATEISE 9gd HH 2t 3R T8T Uty T Bt goig A ARl B
SReXd ST A g 8 Sl Y | 3 39 91 B FIS oewd g el o fr 19 Fum & fore s w3



TRIYT AT A SBIHT & A 1 I IR a1 & I #8 i uAg | 398 | $9 -1 g M &1 e R
3T 3ife TR T T 6 I/ Fad at €} g1 HR U A S WY 3R T H H HRd A1 FWIPR
& BT B 95 foar a1 3d fHt +ff aftarR &1 T §1 Howa e &1 SRS 99 GFHdT 41| 599 3
T B ToTgd HRA W AT FHIT USTI W A BTH B aTed HolgRl bt Hud & e 8 @ Srar o1 3R 3%
AT gHA ®1 Fe 81 A | RSIUT BT 3pIdT | ST 1880 & GRS & TR H 3T UTI IT SR S WSt
F 1y 3ms At <Y fafewr TR F are Tu A T 39 e AfwT Bt wee F i v war ur ot gdlf
3Bt A Tifear w ampHur 3% @ A1 Revuwe IR siffhet & fft Sivra &) 3T &) avg e 7151 1892 3Ma
3Td a5 AR SrpieT & ufndt de 9@ uga gt A

IUYT T B UgHR 1 IR T U= P Sk qa15¢|

WY: WIS 3R AT & 99 HHH & AT sptet i ugd &2
1. TREAE aR

2. QR &N

3. YR I

4. 3RE & AR

Correct Answer :-

.

3) TP WP AR & Ba A TU F @l @) Rigwh dgar 81 78 ) g e Iufa=i & @ ) s9e7
R YUTT USTI 9 AWIHT & AMYFP T &I TR & @ dF My uar gan fF sarerar 320 @1 g
Weft 3zar & &1 VT v @ o frelt o A W Yt wia & 811 1885 § v F 7 wfwar afedw o el
3 P! BT P AT | dic T 59 dRE T PIPT P ISR SN $i AT Weh Ya@mei & a9 |
f¥evie WM # g areft te far 21 st A el & Ierevur & udr Tedr ¢ & fPa me A e
Fart feelt YT § ey & T & U 9 W) THITId ST Fobd 81 SPYpT AT HETSW AT WiEl W)
S SR Wil &1 fpd USR 4TI QR @Rt Wfae ok Il | 4 FHM & fig snptet uga A1 afea
32 981 gyl 3t Ut ot el vt 96T v ok ot wuwn ¥ <At i wirita @ Agar 37 & qrasg
P TE BT ATed A1 AT SBIPHT DI ATEISE 9gd HH A1 3R T8T Uy T Bt Ioig A ARl B
TRXd ST A Y B Sreht Y | I 39 91 B FIS wewd g el A fr 19 s & e s w3

TR AT A SPIeT & AT &I I TR a1 & I #3 a8 v 399 4 99 1 @ M g1 i R
a1 iftrer ¢ T T fp I Fa 9l €Y e HR UTd A S @H) 3R IR H BT $d ¥ STWRIUPR
& BTA B ded fear T 3« fuedt ot ufvar &1 ue 8t dew Tl &1 STRIUSRT a9 G&dr 4Tl 399 3
RN B ASIg! B R 918 G111 USTI GTH H BTH H- aTd JolgRl dt Hud & Hiaw g ar oimen o1 3R 35
A1 gHA B1 Ze Tl A | NSIURT BT Pt | ST 1880 & SRS & ATRAR T 3T UTI Ig SR 3 WSt
F 1y 3ms At <) fafesr A ae 1w A1 T 39 sferam AfwT #Y wee F e fvar mar ur St gdf
BTt A TRfear w mhau 3% 38 A1 Revuwe g¥ ifihet § fhlt Sivra &t 3T o1 avg ba 151 1892 3Md
3Ta a5 AR epiet & ufndt ae 9@ uga gt A

IUY e TR B UghR 19 YD T U= P Ik qa13¢|
WY SBIPHT AT § agardd | &7 Hig[g 412

1. forgt 3R Tt

2. %0 Y T8l

3. 91 3R g4l

4. A 3R QS Hoar

Correct Answer :-



. SHH IR WS gue

4) TP G AR & ba- A TRT & a1 @1 it dgax g1 718 a9 gl e Iufa=n & @l W 59T
TR YHTT USTI 99 WD & MYFAP TaR &) 1R F @ @ 3mues) uar g fF surerar 3= @1 g
el YT A 1 T rer @ 9 ot o A W<t Yt wiw § 211 1885 H RIU B 9 =it afefq F el
3T STFIPT HETSRT Y MU H dic faT| 39 v W 3PIeT & wrgar <X ) WATY et Warsi & 59 w1
frevtwe 7aflkmEl & g1 arclt Tt Tt 31 sl A fisRie F e A uaT gaa R fr o e A &
Fart feelt Yy § ey & Fiteor &1 Ui 9 W) THITIT $T Fobd 81 APIhT AT HETSN AT el W)
S SR Wil 1 3rpd YeTR 4TI TR @1 Wfe 3R aRTHT | 9 A & fore snwtet uga A afea
I2 a81 Auigyl Bt U H et Ut | 98T U SR a3t wuan A <t i g a@hr Agarn 31 & J1aeg
BT L BT ATed A1 SRINTA NBIDT B METSt 9gd HH A 3R a8T U I Bt gorg | ANl Bl
TReXd ST A Rt B ATt Y | I 3% 91 B BIS oewd g gl At fr 3 s & fore s e

TR @M A SPIRT F A Bl I WR a1 & R #8 a8 v 399 | 9 1 g M g1 i R
AT 3P TR T T 6 I/ Fad at €} 3ieT HR U A S W R T H H HRd A1 SWIPR
& BT B 95 foa1 a1 3d et +ff aftaR &1 T §1 Hewar e &1 SIS 99 GHdr 47| 399 3
T B ToTgd HRA W 1A G USTI W A HTH B aTel HoigRl bt e & Wi g 1aT Srar ot 3R 3%
AT gHA B1 Fe 81 A | RSIUT BT 3pIdT H ST 1880 & GRS & ATRAR H 3T UTI IT SR 3 WSt
¥ a1y 3ms At <t fafe=r TR F aw Tu A T 39 sferm AfwT Bt wee F R v war ur o gdf
3npleT # Tifear w ey o2 3@ A1 et IR ifthet § fhft sivrer &5t om Y ave e 11 1892 3
3Ta g AR SpteT & ufddt ae 9@ uga gt At

ITYR TR Y UgHR 1 I T U= o1 Ik qa1su |

WHY: 3MPIhT Y RITT AR o1 frd i B HHl BT AT HAT U812
1. YIS &I

2. U b

3. AIGR] Bl
4, AT B

Correct Answer :-

. HUGRI B

5) T& WP AR & B A [T F @l &) i dgar 81 78 O g Re Iufa=i & a w® 39e7
TR YU USTI 9 AWIBT F MYFAP 7o I 1R A T@T @t MUl gar ga7m {6 sarerar 330 @) JHarg
Weft 3zar & €1 VT v @ o fbelt o A W Yt ©ia & 811 1885 § v i 7 wfwar ol | Rl
3T P! HETe P AT | dic /T 59 aRE T PIPT P TIGMR S BI AT Weh Y@mei & a9 T
et wafkml # 819 areft uer i 31 it H fisviRe & Ierevur | vdr g« @ fr fra e A te
A fedt YyumT & fed & THfiezor & U TR R gUIfad % GHdl 31 BIBT 37T HETSRT AT S8l uR
S 3R WAl 1 3ipd YeR 4TI QAT @1 Wit 3R IR | o9 HHA & fore snptet ug a1 afea
32 981 Toigl 3t Ut ot Saeht vt 98T ve ok St wuwn 3 <At i w1 Agar 37 & qrasg
PTH 8! BT ATed V| ST BIHT B MaTd 9gd ®H A 3R I8T Suasl JATLHT Bt aoig | a1
TReXd ST A Y B STt Y | I 3% 919 B FIS oewd g el A fr 1w & fore s H

TR AT A SPIHT & A &1 I IR a1 & I #3 a8 uAg| 398 4 99 -1 fd M g1 e R
ST A ST T 1T fF 39 A a1 g ST HR U A S Wl 3R ARTH § BT FRd A1 STRIRGR
& BT B! ged far man 34 fadt Wt uRaR &1 te g Joxa 9 &1 SWRIRGRT a1 GFar 4T 599 3=
RN ) AOIg! B R 918 G111 USTI GTH § BTH H- aTd JolgRl bt Hud & Hiaw g1 ar oimen o1 3R 35
AT gHA ®1 Fe 81 | RSIUT BT pidT | T 1880 & SIS & ATRAR T 3T UTI IT SR 3 WSt
F 1y 3ms At <Y fafexr ohmr A aw 1w A1 T 39 sfermm AfwT #Y weae F e fvar mar ur ot gdf



BIHT H TRITTT IR 3pHUI X Te F1 U Q¥ SHfthepT # ol SivTer & ST &t avg T 7351 1892 37d
3Td I8 SR SrpieeT & ufdedt e a@ ugd gat &

UL T B UgHR 2 TR T U $T I« T3¢

TY: T | BTH B T AGRI D BT @7 STl AT 3R 37 F1 e a1 A2
1. Suad B A IS Tl

2. R H Yd A B

3. UG H SR g1 g Bt

4. G H 3R TR STH B

Correct Answer :-
.« ST H 3R G gHA B

6) & WP AR & B A Y F RNl & Rigit dgav g1 T8 af g TR SR & RN IR §9PT
TR YHTT USTI 9 WD & MYFP TaR &) 1R F @ aF mue uar gam fF sarerar 3= @1 g
Wteft YT A &1 1 oran @ S el o A Wi Yt wiw € g 1885 W v 9 9t wiiTwar aikiw A el
3 AP HETSRT BI AU | qic AT 39 TRE A NHIPHT & SUTGIaR =N &1 WA e Yareh & a9 S|
Frevive Hakm & g arelt ve SuRt 81 snpte ® fYevuve & ITevur | var gadr @ % fra e A e
T frelt yum & =fda & Tl A 4 R R gHIfad $R 9odl @1 3Pt 39T WeTew °T Wigl W
SN 3R Wil @1 3rpd USR 4TI QR &Rt Wit 3R a1 | 49 FHM & g sntet uga A1 afdea
3I¢ q81 Auigyl Bt U Ht et Ut 98T U SR St wuw A <t % Ryig @bt Agarn &1 & J1ac[g
P TE BT ATea A1 GRS SNBIPHT DI ATAISE 9gd B 2 3R T8T Suaiey TN Y goig A il b
S ST A O B STt oft | 9% 3 91 B IS oRed €1 A < fp I vum & e e ¥

TR @M A SPTeT F A &1 I R a1 & g #8 a8 v 379 | 99 R A M g1 i R
ST I SRT I AT fF S FHad 9t g ST HR U A WY Wl 3R AR § BT HRd A1 SWIRGR
& BT B 95 foa1 a1 3« et +ff ataR &1 T 31 Aew s+ie &1 SRS 99 GFhdr 4T 399 3=
NN ) ASTgt B UR 9180 BT USTI GTH B BTH H- aTd TolgRl dt Hud & Hiaw € ar oiman o1 3 38
AT gHA B1 Fe g1 A | RSIUT BT 3pidT H ST 1880 & GRS & ATRAR H 3T UTI Ig SR S WSt
F 1y 3ms At =Y fafesr oRmr ¥ @me 1w A1 T 39 sfora ST #Y wee F e frar mar ur ot gdf
3BTt A TRfear w ampaur 3% @ A1 Revuwe IR sifihet & flt Sira &t 3T &t avg ba 151 1892 3Md
3Ta a5 AR enpiet & ufind ae 9@ uga gt A

ITYe RN Y UgH 19 IR 7T U= &7 I« 9a13¢|

TY: STUS TRHRY B 4 B 3raT B uTd & o Fraferied ®ir ™ & avd 31
1. ST 3R TR &

2. Wl 3R 3N

3. 7Tct 3R g% A

4, QAT 3R ST A

Correct Answer :-

« QMR AT H

7) T TP AR & e A T F A t Righ dga 81 18 @) g8 e Iufa=i & @l w g9e1
TR YHTT USTI 59 WD & AMYFAP Ta ) @ @ ' :

e



et Y o &1 T e @ SR et o A Wil Yt Wi € @ 1885 ° v 9 9 wiiTear aiki= A el
3T 3BIPT HETSRT Y MU H dTc faT| 39 v W 3PIeT & wrgar ¢ ) WATS Aieht Warsi & a9 w1
vt walkml & 811 areft uar s 31 snpteT ¥ fieyiRe & Sererur A uar aaar @ fr fra e A we
Fart feelt Yy § ey & Tt & U G W) THITIT $T Jobdl 81 APIhT AT HETS AT W8l W)
S SR Wil 1 3ipd YeTR 4TI TR @1 |fe 3R aRTHT | ¢ A & fore snwtet uga A afea
I¢ a1 Auigy] Bt UK H Jat Ut 98T U SR St wuan A <t i Riig @bt Agarn 31 & J1asg
BT L BT ATed A1 SR NBIHT B ATt 9gd HH A 3R a8T U JATY Bt Ioig | ANl Bl
SR ST A O B STt oft | 3% 39 91d B HIS wRed &1 Agl ot fp 3 puM & forw e ¥

TR @M A SPIeT F A Bl I WR a1 & R #8 a8 v 399 | 99 1 g M g1 i R
AT 3P TR T T 6 I/ Fad at €} 3ieT HR U A S W 3R T H H HRd A1 SWIPR
& BT B 95 foar a1 3« fHt +ff aftaR &1 T ¢ How e &1 SRS 99 GFHdr 41| 399 3=
I B ToTgH HRA W 1A G USTI W § BTH B aTel HoigRl bt Hud & Wi g1 7ar Srar ot 3R 3%
AT gHA B1 Fe 81 A | RSIUT BT 3pIdT # ST 1880 & GRS & ATRAR H 3T UTI IT SR S WSt
¥ a1y 3ms At <t fafesr TR F ae w4 T 39 sferm AfwT Bt wee F R v war ur ot gt
3npleT # Tifear w ey o2 37 A1 Reviwe IR siftver § fft Sivrer &t om &Y ave e 11 1892 3
3Ta a5 fAr enpiet & ufind ae 9@ uga gt A

ST TR B UG ) I T U= o1 Ik Ta1su|
UY: IUATT & AN IR THBT HHT SRR UST?
1. 3d

2. 9THY

3.
4, AT

Correct Answer :-

8) TP P AUR & ha- A WU & @it @1 fRielt dgax g 713 a9t gl e Iufa=n & @l W st
TR YU USTI 9 AWIBT F NYFAP 7oA I MR A 3@ @t MUt gar g f sarerar 330 @) Harg
Weft 3zar & €1 U1 vrar @ o felt o A W et wia & 811 1885 § v i 7 ufwar ol | frelf
3T SFIPT HETSR P MU H dic faT| 39 v T 3PP & Wrear <X &1 WATE et Yarsi & g9 1)
et wafkml & 817 areft uer Fur 81 srpteT H fisiRe & Ierevvr | vdr gl @ fr fra e A te
A fft YyumT & fed & Tefiezor & U TR R gUIfad % GHdl 31 SBIBT 37T HETSRT T S8l UR
S 3R WAl 1 3rpd YeTR 4TI TR @ Wit 3R IR | o9 HHA & fore snptet ug a1 afea
32 981 gl @t Ut ot Saeh vt 98T Ue ok ot wuwn 3 <ft i w1 Agar 31 & qracg
PTH 8! BT ATed V| SIS BIHT Bt MaTE 9gd HH A 3R 98T SUasl I Bt aoig | a1
TRXd ST A Rt 3 STt Y | I 39 91 B FIS ewd g el A fr 1w & fore s HY

TR AT A SPIHT & AT Bl I IR a1 & I #3 a8 vl 399 4 $9 -1 fd M g1 & R
ST A ST T 1T fF S A a1 g ST HR U A S Wl 3R ARTH § BT FRd A1 STRIRBR
& HTA B! ged far man 34 fadt ff uRaR &1 te & Joxa o &1 SIIRGRT a1 G%ar T 399 3=
RN D1 ToTgRt HIA TR 14 BT USTI T T HTH - aTdt Hoigel &l $ud & Waw & 331 Srar o1 3R 37
AT gHA ®1 Ge el A | RSIURT BT pidT H T 1880 & SIS & TR T 3T UTI IT SR S WSt
F 1y 3ms At <) fafesr wRmr A aw 1w A1 T 39 3o AfwT #Y wee F R fvar mar ur ot gdf
3npieT A TRfear w ampHur 352 3@ A1 Revue IR sifthet # falt Sivra &) 3T &) ave a1 1892 3Ma
3T Ig AR SrpieT & ufndt ae 9@ uga gt A

ST TR B UghR 1A YD T U= P Ik qa13¢|
uy: fba e &) IuTRIAT & FRUT IBIDT AT HTH A1 BT A18d A2



1. 3TN

2. el
3. STy
4. Bl

Correct Answer :-

9) T®H TP ATIR & Hed A TR & RN 31 igh 95ar 81 15 a1 ga’t TR Jufazil & aRil ux ST
R YUTT USTI 9 AWIHT & AMYFP TaR &) TR & @ dF 3Mua) uar gan fF sarerar =0 @1 g
Weft 3zar & g1 VT A @ o fbelt o A W Yart wia & 811 1885 § v F 7 wfwar ol o el
3T SPIPT HETSR Y MU H dic fUT| 39 v T 3PP b WTear ¢ &1 WATE Aieht Yarsi & 9 1)
f¥eviwe 7afdmEl # 819 arcll T fa 21 e A et F v A uaTaaal & fr Pa Re A o
Fart feelt YT § fey & T &1 U IR W) THIIT ST Fobd 81 Pt 39T HETeW AT WiEf W)
SN SR Wil @1 3fpd USR 4TI QR @Rt Wfe ok Tl | 4 FHM & fig snptet uga A1 afe
32 981 gl 3t Ut ot Saht vt 98T ve ofk o wuwn ¥ <At i wiritg @ Agar 37 & qracg
P TE BT ATed A1 I SNBIPHT DI ATEISE 9gd HU A 3R I8T Uy TN Y goig A ARl B
SReYd ST A Y B STl Y | I 39 91 B FIS wewd g el A fr 39 wum & forw s w3

T @RI A 3PiT & @RT 1 I R aF F e #8 i Srvame | 399 9 9 AR ot T #)1 a R
a1 3iftrer ¢ T T fh I Faa 9l g e HR UTd A i @A) 3R IR H BT HId ¥ ISTRIUPR
& BTA B ded fear T 34 fadt ot ufvar &1 ue 8t dew Tl &1 STRITUSRT a9 Gddr 4Tl 599 3=
RN ) AOIg! B R 918 BT USTI GTH H BTH H- aTd JolgRl dt Hud & Hiaw g1 ar oiman o1 3R 35
AT gHA ®1 Ze Tl A | RSIURT BT Pt | ST 1880 & SIS & ATRAR T 3T UTI Ig SR 3 WSt
F a1y g i ot fafewr wlm & are v A1 VA 39 sferw AT B wee & forg favan mar ur < odf
BTt A TRfear W mrau 3% 38 A1 Revuwe Q¥ ifihet # flt Sivra &t 3T o1 avg ba 51 1892 3Md
3Ta Ig AR enpiet & ufndt ae 9@ uga gt A

ST T 3 UgH T TD T U $T I@R 91T
Uy {5 AT & WreaR <2 1 WaTe et Y@mei & g9 w2
1. TRm

2. R4
3. 3BT

4. 3Rferan

Correct Answer :-

10) U® RE AR & e I RIT F AR $i it dgar g1 T8 df gudl @R SuHa=il & annl ) 937
R YUTT USTI 9 AWIHT & MYFP TaR &) 1R J @ dF 3mue) uar gam fF sarerar 3= @1 Humg
Teft YT # &1 1 e @ SR el o A Wi Yt wiw € g 1885 ° U A 9t wiiTwar aikiw A el
3 SNAIPT HETSRT BI AU | qic AT 39 TRE I NHIPHT & SUTGIaR =N &1 WA e Yarei & a9 g
et walkml & g1 arelt uas S 21 snpteT ¥ fieriRe & Sereru A yar gaar @ fr fra e A we
T frelt yumT & =fda & Tl A 4 R R gHIfad $R odl @1 3BT 39T WeTa™T °T w8l W
S 3R Wil @1 rpd USR 4TI QR &t Wi ok Tl | 49 wHM & g srpteT uga A1 afe
3I2 q81 Auigyl Bt U Ht Ja-it Ut 98T U SR St 9uwn A <t % Ryig @bt Ag-arn &3 & q1as[g



BTH 51 HIAT ATgd A1 GIIATA MPIBT D AT Igd HH AT 3R TgT SUAS HATYA] Bt dolg A AN Dt
TRXd ST A Rt 3 STt Y | I 39 919 B FIS oewd g el A fr 39w & forw s Y

TR AT A SPIHT & A &1 I IR a1 & I #3 a8 uAg| 398 4 99 -1 fRd M g1 e R
ST A ST T 1T fF S/ A 9t g ST HR U A S Wl 3R AR A BT FRd A1 STRIRGR
& BT B! ged far man 34 fadt ff uRaR &1 te & Jowa 9 &1 SWIRGRT a1 GFar T 399 3=
RN Y AOIg! B R 918 G111 USTI GTH § BTH H- aTd JolgRl dt Hud & Hiaw g1 ar oiman o1 3R 35
AT gHA ®1 Ge Tl A | RSIURT BT pIdT | ST 1880 & SIS & TR T 3T UTI IT SR S WSt
F 1y 3ms At <) fafesr wlmr A ae 1w A1 T 39 3o ISl #Y wee F e fvar mar ur ot gdf
3npieT A TRfear W ampHur 3% @ A1 Revue IR sifthet # fft Sivra &) 3T &) ave ra 7151 1892 3Ma
3Td a5 AR SrpieT & ufndt ae 9 uga gt A

ST TR B UghR 1 YD T U= P Ik qa13¢|

UY: STRIUPR B 96 oIlH & HRUI URAR & fod= @l o1 TH UR SAfUDPR g gavdr 412
1.9R

2. U

3.3l

4. A4

Correct Answer :-

11) T® RE AR & e I RIT F RN 3t it dgax g1 T8 df gudl TR SuHa=i & annl ) §a9®7
TR YUTT USTI 9 AWIHT & AMYFP TaR B) TR F @ aF 3mue) uar ga fF sarerar 320 @1 g
Weft Yzar & &1 VT A @ O fpelt o A W Yt wia & 811 1885 § U I 7 ufwar afedw o el
3R 3MPIP AETS B! ATUY | dic forar| 59 dvg A BIPT S SIGa 32 I JATE Heh Y@mei & a9 7|
et wafkml & g9 arelt te SRt 81 st #f fevue & Ierevur | yar Tadr & % 59 e 4 e
T frelt yum & =fda & Tl &) 4 R R gHIfad SR Godl @1 SPieT 39T WeTe™T °T W8l W
SN SR Wil @1 srpd USR 4TI QR &Rt Wit ok Tl | 4 wHM & fig srteT uga A1 afea
I d81 Hoigl Bt U it Sa-il uSt | 951 U ok St 9w 3 <ft i Rir-tg i1 Ag-ar ¢4 & a1asg
BT T8 BT TT8d | ST INBIHT Bt AT g HH At 3R T5T SUTsy HATYA] B Iorg A ARN Pt
SReYd ST A gt ) STl Y | 3% 39 91 B FIS wewd g a1 A fr 19 Fum & e s w3

TR @RI A BIT & @M 1 I WR aF F o #8 e 3rvame | 399 9 59 R ot 1§ @ R
ST 3 ST T AT fp S Fad 9t g ST HR U A S Wl AR AR § BT R A1 SWIRGR
& BT DI 95 foa1 a1 39 fHt +ff akaR &1 T g1 Howa o+ iie &1 SIS 99 FPhdr 4T 39 3=
RN ) ASTg! B R 9180 BT USTI GTH B BTH -+ aTd TolgRl dt Hud & Haw € var oiman 31 3R 3%
AT oA 3t ge 81 N1 evive 71 snbieT § A 1880 & G3@ & ATFRER A g3 Y71 98 TR I Uil
F 1y 3ms At =) fafesr o ¥ a@me w41 T 39 sfera ST #Y wee F e frar mar ur ot gdf
BTt A TRfear w Smeraur 3% 37 A1 Revuwe IR 3ifihet # flt Sira &t 3T ot avg ba 7151 1892 3Td
3Ta Ig AR enpiet & ufnd ae 9% g gt A

ST TR B USHR 1 I T U= HT Ik qarsu |
T TATGTAR =M Y HrATd forer Y & §2

1. et

2. AR

3.2

4. &



Correct Answer :-

. Hieft

12) TH @RE AR & Ba- A T F @ o1 it dgav g1 18 a9 gt e Iufazi & ai uwR gae1
R YU USTI S NBIPHT & YD T Y MR A T@ @ 3Tueh) uar T for surerar =i @) e
Weft YT A €1 1 wran @ S el o A Wi Yt wiw € g 1885 ° v A 9t wiiTar akiq A el
3 AP HETSRT BI AU | qic oraT1 39 e A NBIPHT & SUTGaR =N &1 WA e Yareh & a9 1|
et walkml & g1 arelt uar S 31 it ¥ fieiRe & Sererur A uar gaar @ fr fra e A we
Fart feelt Yy § e & Tt &1 Uit R W THITad $T Jobdl 81 SAPihT AT HETST AT gl W)
S 3R WS BT 3 HSR U7 QRIUHG AvT Wit 3R aFTHT & 47 S8 & g it ugd 31 afd
3I¢ q81 Auigy] Bt U H Fait Ut 98T U SR St wuan A <t i Riig @bt Ag-arn 31 & J1acg
P TE BT ATed A1 I SNBIPHT DI ATAISE 9gd B 2 3R I8T Suaiey TN Y goig A il
S ST A O B STt oft | 3% 3 91 B HiS oRea &1 At <t fp IR UM & e e ¥

TR @RI A SpteT & AR B IR TR M & I 75 adtds gl 39H A pe R i Ml A R
AT 3P TR T T 6 I/ Had at €Y g1 HR U A S WY R AT H H HRd A1 SWITPR
& BT B 95 foa1 a1 3« et +ff aaR &1 T g1 Gewa ovie &1 SIS 99 FHdT 4T 399 3=
NN ) ASTgt B R 9180 BT USTI GTH B BTH HR- aTd TolgRl dt Hud & Hiaw € vt oiman o1 3R 38
AT gHA B1 Fe g1 A | RSIUT BT 3pidT H ST 1880 & GRS & ATRAR H 3T UTI IE SR S WSt
F 1y 3ms At =Y fafesr oRmr ¥ a@me e A1 T 39 sfera ST #Y wee F e frar mar ur ot gdf
3ot # Tifear w ey o2 7 A1 Reviwe IR sifthet § fft Sivrer &t omm &Y ave e 151 1892 3
3Td g START SptehT & Uit ae 9@ uga gt |

ST TR B UG 1 I T U= o1 Ik qa1su |
wy: U w132

1. Uh YhR DI dl]

2. T YR b1 Wd

3. HAfRmdl # g1 dreil SRt

4. 7S B dTeil SRt

Correct Answer :-
. HARE H g1 arell ARt

13) T RE AR & Bed A T F AN 3t Rigiht dgar 81 78 at gl e Iufai & ann w® gao1
TR YHTT USTI 99 AWIDT & MYFAP TaR &) 1R | @A aF mue) uar gam fF surerar 3= @1 g
et YT A &1 T ren @ 9 ot o A W<t Yt wiw § 211 1885 H RIU B 9 =it afefq F el
3T 3BT HETSRT Y MU H dic fraT| 39 v ¥ 3PieT & wrgar <X ) WATT Aieft Warsi & a9 w1
frevtwe 7aflkml & g1 arclt T fudt 31 sl A fisRie F Sersu A uaT gaa R fr o e A &
Fart feelt Yy § ey & Fiteor & Uit 9 W) THITIT ST Fobdl 81 APIhT AT HETSN AT el W)
S SR Wil 1 3ipd WeR 4TI TR @1 Wfe 3R aRTHT | 9 A & fore snptet uga A afe
3I2 a1 Auigyl Bt U H Fa-t Ut | 98T U SR a3t wuwan A <t i g @bt Agarn 31 & J1a6g
BT L BT ATed A1 SRIRTA NBIDT B AT 9gd HH A 3R I8T U I Bt gorg | ANl Bl
TReXd ST A IRt 3 ATt Y | I 3% 91 B BIS ewd g gl At fr i s & fore s e

TR @M A SBIHT F A B I W a1 & R F8 a8 v 379 | 9 1 g M g1 i R
AT 3P TR T T 6 I/ Fad at €} g1 HR U A S W 3R AT H H HRd A1 FWIPR
& BT B 95 foa1 a1 3d fHt +ff afaR &1 T §1 Hewa e &1 SIS 99 GHdr 47| 399 3=
I B ToTgd HRA W 1A T USTI W A BTH B aTel HoigRl bt e & Wi g1 7ar Srar ot 3R 3%
AT gHA ®1 Fe g1 A | RSIUT BT 3pIdT | T 1880 & GRS & TR H 3T UTI IT SR S WSt



& a1y 313 At i fafesr vl | e e A1 ¥ 39 s Af el B uaq & e fear wan ot it gdt
SpieT A TRfear w ampaur 3% 3@ A1 Revuwe IR 3ifthet # flt Sivra &t 3T &1 avg ba 51 1892 3Md
3Ta a5 AR enpiet & ufnd ae 9@ uga gt A

IUYe RN Y UgH 19 IR T U= &7 I« Ia13¢|
Y T e A RIY & A i foiei dgar 81 182
1. frafa

2. 3{1d

3. P

4, UR

Correct Answer :-

14) T®H RE AR & Bed § T F AN $t Rigiht dgar 81 78 at gl e Iufai & annl w® gao1
TR YHTT USTI S AWIDT & MYFAP TaR &) 1R | @ @ 3mues) uar gam fF surerar 3= @1 g
Hieft a1 ¥ § 1 U1 oTen § S fhedt o A Hieh Yt ©ia & g1 1885 ® R0 $1 7St it afer o freft
3T PIT HETew FT MUH H dic forT| 39 aRE T PIPT $ ISR SN &1 AT Weh Y@msi § a9 |
frevtwe 7aflkmEl & g1 arclt Tt Tt 31 sl A fisRie F Sersu A uaT gaa R fr o e A &
Fart feelt Yy § ey & Tt & Uit 9 W) THITIT ST Tobd 81 APIhT AT HETSN AT gl W)
S SR WAl 1 3rpd YeR 4TI TR @1 |fre 3R aRTHT | o9 A & fore snwtet uga a1 afea
3I2 a81 Auigyl Bt U H Fa-t Ut | 98T U SR a3t wuan A <t i wirig a@hr Agarn 31 & J1asg
BT LY BT ATed A1 SRIRTA NBIDT B ATt 9gd HH A 3R I8T U I Bt g8 | ANl B
TEvd AT A O B ATt ot 36 59 9T B BiS oewd 1 gl At fh I UM & e e

TR @M A SPIRT F A Bl I W) a1 & R #8 a8 v 379 | 99 1 g 1 &1 & R
AT 3P TR T T 6 I Fad at €} g1 HR U A S WY 3R T H H HRd A1 SWIPR
& P B 95 foa1 a1 3d et +ff aftaR &1 ¢ §1 Howa e &1 SRS 99 FHdr 41| 399 3=
T B ToTgd HRA W AT T USTI W A BTH B aTel HoigRl bt Hud & e g 1a@r Sran o1 3R 3%
AT gHA ®1 Fe g1 A | RSIUT BT 3pIdT | T 1880 & GRS & ATRAR H 3T UTI IT SR 3 WSt
F Ty 3rs At <Y fafesr ulkmar @ @w e A1 T 39 e AfF! B ueg & e forar war ot <Y df
3ot # Tifear w smpyur o2 3@ A1 Reviwe IR iftver # fft Sivrer &t 3mm &Y ave e w1 1892 3
3Ta g AT SpteT & ufddt ae 9@ uga gt At

ST TR B UG -1 Y& T U= T Ik qa13¢|

WY: gRIY 1 931 faaal aferT A o freli 3R srpta! Aerexr i 3oy o aier?
1. 1825

2.1880

3.1852H

4. 18850

Correct Answer :-

. 1885H



TP B AR & B A GRIU & &Rl Dt fSigt dgar g1 718 df gl % Sufan & Al R §HT §_1
THTT USTI 9T SNBIPHT & MYFIP TaR B MR A @ at 3D a1 gein fF Srerer i 3t Hamg Hief
YT ® g1 T et @ 9 fadt o A W Yad i € 81 1885 ® RIv #Y 53t mfaaar afeds # freft oz
SMPIP! HETST P 3T A dic AT 39 9RE A PIPT S Erdr o2 I WATS Aieht Y@mei & a9 11
f¥eviwe 7afdmEl # g9 arclt te F 21 anfle A et F e A uaTaaa & fr Pa R A wo
Fart feelt YT § fey & Fievor & U O W) THIRT ST Fobdl |1 SPYeT 39T HETSW AT WiEl W)
S SR Wil @1 sfpd USR 4TI QR @Rt Wi ok Tl | 4 wHM & fig snptet uga A1 afea
32 981 gl t Ut ot ol vt 98T v oik o wuwn ¥ <At i wirita @i Agar 37 & qrasg
P TE BT ATed A1 I SNBIPHT DI ATEISE 9gd B 2 3R T8T SuaTsy TN Bt goig A ARl B
SReXd ST A g B Sl Y | I 39 91 B FIS Sewd g ) f fr 19w & e s w3

T @RI A PIT & @RT 1 I W aF F o1 #8 i rvame | 399 9 $9 R ot T #) d R
a1 3Ufer ¢ T T fh I Fa 9l g e HR UTd A S |@H) 3R IR H BT HId A1 STRIUPR
& DT DI 95 fea1 a1 39 fHdt ff taR &1 T 31 Towr o+ ie &1 STRITUSRY 99 FPhdT 4T 39 3=
NN ) ASIg! B R 918 G111 USTI GTH B BTH H- aTd TolgRl dt Hud & Hiaw §F ar oimen 31 3R 35
AT gHA ®1 Fe Tl A | NSIURT BT pidT § ST 1880 & SRS & ATRAR T 3T UT| Ig SR 3 WSt
F 1y 3mg At <) fafesr ofmr A @me 1w A1 T 39 sforam IS #Y wee F e frar mar ur St gdf
SpTeT A TRfar W mpHu 3% 37 A1 Revuwe Q¥ ifihet # fhlt Sivra &t 3T ot avg ba 7151 1892 3Td
3Ta 75 AR enpiet & ufndt ae 9@ uga gt A

UL TR $Y UgHR 2 TS MY Y= HT IR FA1ST

T RIUTT AT A SMPIT & a3l fh uR @ & fore & a¥ies sra-me?
1. S8l IR

2. IRW

3. A WR
4. AR

Correct Answer :-

e TR

16) PG I CH! ISP TR T HH W AT 3
de-gde

= BT W 138 &

TR UUY B JaH YA UfR § T8
YA € 3 faavor & ave fRran s
feraT s I1f3e 39 HaTa $ e

FH W I 17 § 992

T iaeel § AR 78 § 9t 71

a1 el A @ Rrar €

AR & faat forarat ot

T P UGTS & 4 g9 MY § AR f@e=
=1 felt ybu A gg 5 §

AR HeE! B FARG



T AR A, TR T 3R W & =

T § Y § THIH

it fOp~ o €t @ @ 9 g A

foem v giar AR T g

YT ¢ Afd 3@ ot wurer a7

¥ & 9rd i seauTg@

R g # g9RT Few! A ToR §Y

¥, 9gd B¢ DI I

HTH W 1 T3 &

IUed U Bl USHR AR YD WF aTd U= BT IR Ia13|
v=: 5w T1-faht e @1 fuet 7 @ ferar g2
1. et

2. g

3. fobelTdl

4. IS

Correct Answer :-

17) PigY ¥ ! SP TR T HH W AT 8
{de-g9e

T PH W AR §

TUR THY B T YIHS UfHR & T8
WIS § 39 faaRor & aws forar wmn
feran s Tnfev 39 WaTa 3t avE

FTH W I o137 § 992

w1 Jjafver A AR 1 & Wt A%

=1 St A @ Rrar @

AR &1 faat forarat &t

T $TA UgTS F - g9 Y § IR ¥
w1 fpelt aey o 7g S ¥

AR AEH! B FARG

T AR A, AR T 3R W & =
T §1 Y § (PP



at fiex o € w1 § S g 2

forem vaTs giar AR T g

A ¢ Afe 50 i wurer 97

& & 9t A g

W g1 3 ORI SH! | TR §U

¥, 9gd Bi¢ Bie I

FH W AR §I

IUed U $I UgH A YD WF aTd U= BT IR Id15|
U: PIge A P! SH W I Bgl o1 3@ 872
1. gleq & forw

2. BTH B

3. | HA

4. Qe & forw

Correct Answer :-

. HHBA

18) PGy U ¢! USP IR T HH W AT 7
Hde-gde

= BT W 138 &

TR WY B O YA UfR § T8
YOS § 39 fyavu & v foran s
foraT s fYe 59 wara @ @)E

P TR T A8 § T2

T Siafeel § AR 78 § 9t 71

1 el A @ Rrar €

I & faht frarat &t

T HTA UGTS & 1d g9 1Y § AR f&e=
w1 fedt ybu A gg g §

AR el B gARA

T AR AGH, TR T 3R RN & =
T §1 Y § UHITH

at fipx o € w1 § 39 g 2

foem vaTs g AR T g



YU § dfhT 3 ot surer a8

& & 9t A sxawm@

TR g1 B FIRT WSH! T ToRd §Y

¥, 9gd Bl B I

HH W AR F

ST Ui $I Ugh 1 TS WA 9T YA BT IR Ja1s¢l
U=: fRdt y&u # 71 g8 B a1d B Ha1 32
1. T A PS4

2. H&H! BT SARA

3. JR&f & fore =it dan

4. TR 3R fbel

Correct Answer :-

. Al Bl AR

19) PIgY A CH! USSP W I B W AT &
de-gde

T FTH W AR §

AR WY B e YU UfR § T8
YOS § 39 [Javur & g foran s
fRra s Tfeq 39 Hara 9 @vE

F R FI 91 & =22

a1 fafve § R 78 § 9t 1

1 el A @ Rrar €

AR & faaht forarat &t

T BT UgTs & -1 g9 ¢ § AR f{d=
FfeR ypudce g

AR HeE! B FARG

T AR A, AR T 3R W & 3=
T E 7T § UhILD

it iR s St 8 s g A

e v BT SRR T giar
YIS § dfhT 3 ot surer a8

fo 8wt el s



R giaT ) gRT ! | ToRd §¢

9=, 9gd B¢ B T

FH W AR T

STT YR P UgHR H1Y YR oH T U= $T Sk qaige|
UR: Ya5-Ya8 = oid o1 38 ¢ a1 T 9 9d 3?2

1. Tt

2. §gA UG

3. SRR

4, 99d

Correct Answer :-

. §gd S

20) PR A P! ISP WX T HIH W AR &
gIe-g9%

T FTH W AR §

AR THY B W WIS Ufed § 98
YOS § 39 fyavur & g foran s
fera s Tfeq 59 Hara o @vE

FH W I o138 § 992

w1 Sfafves § R 7 § A 31

w1 §HADT A @ foran 3

AR 1 faht fpamat &t

T PTa UgTS F 19 g9 TU § 9N /R
a1 et by & 7% S §

AR HeH! B TARG

T AR A, TR T 3R W & =
T gl Y § THITH

a1 fipx oo € w1 @ s9 g 2

faeT v gaT AR T gt
YOS § dfpT 33 ot surer a8

& & 9t i svaum@

W g 3t s9RT wSH! | TeRd §U
9o, 9gd OI¢ B I



BT R Q&

ST U F UgH AR IR H ard U= $T Sk ga1s¢|
US: 4 & AR TR THT B YA Ufed o1 82

1. 9RI R PIEX §

2. BT 988 U¢ §

3. qadE 8

4. S HH R A §

Correct Answer :-

. THPHRAR S

21) HIE A <P TSP R 9= BH W STIE @
Yog-Yde

T FTH W TR §

AR THY B W WIS Ul § 98
YA € 39 favor & v Rran s
fera s TfeT 59 Hara o @)E

FTH W I o1 I3 § 992

w1 Sfafves ¥ R 7 § Al 31

w1 St A @ R @

IR & faft forarat &t

T HTA UgTS & -4 g9 1Y § AR f@e=
w1 el Yoy @ g S @

AR HeH! B TARG

T 9N A, 9N TR iR Wi & =
T € T § TP

@t for s ft 7 8 s g A

foeT yaTs g AR Ta grar

AT § Afe 3ad i wurer a8

¥ & wrd s geauTg@

W g #1 T9RT WS @I A TeRd §U
¥, 9gd Bic Bic I

BT R AR &

STT U F UgHR AR IR WH ard U= $T Sk ga1s¢|



wA: R 1gTs & R YA 79 U €, 39 UgTS &1 9 1 82
1. gbg
2. BT

3. et
4. 30

Correct Answer :-

22) HIEY Y P! YSF R I HTH W STIQ &
Hde-gde

T FTH W TR §

TR YU B 98 YIS Ufad § 98

YA € 39 faavor & ave fRran s

forat s Tnfev 39 ard 9 e

FTH W I o1 7 § 992

w1 Jjafver ¥ AR 1 & Wt g

w1 St A @ Rrar @

IRt T et frarat ot

T BT USTS & AAId &d 7Y § 9K f&e=

w1 el Yoy & g5 S @

AR HEH! B TARG

T AR AGH, IR T 3R W & 3=

T gl Y § THITH

at fiex oo € /T @ sw gfan A2

feT yaT® g SR T giar

T ¢ Afe 3d i wurer a7

& & 9t il seaumE

W g B 59N HS@! ¥ TerRd 5T

¥, 9gd B¢ Bie I

BT R AIE §

ST U DI UGH - T A Tt U BT IR Jarstl
TR: T2 & B W W & faavor &) fRra=m w82
1. feerery



2. 9@q
3. YOS
4. AR

Correct Answer :-

23) PR A B! ISP W T HTH W AR §
{de-gde

T FTH W TR §

AR THY B We WIS Ul § 98
YA € 39 favor & ave Rran s
fera s TfeT 59 wara @ @_E

FH W I o1 I3 § 992

w1 Sfafves § R 7 § Al 31

w1 St A @ R @

AR} ¥ fokaft forarat

T BT USTS & 14 &9 ¢ § 9K f&a=
w1 el Yoy & g8 S @

AR HeH! B TARG

1 9N A, 9N TR iR W & =
T T T § TP

at fipx oo € w1 @ sw g A2

feT yaTs g SR Ta giar

YT § Afe 3ad i wurer a8

& & wrdt i seaumg@

W g aT B IRT WSH! | ToRd §¢
=, 9gd B¢ Bic I

BT R AL &

SUT U F UgHR AR IR WA ard U= $T Sk ga1g¢|
UH: $9 HIdaT § HId T 94T Dl 82
1. A $a1 9¢ 1 82

2. 5= BT Al gl hR?

3. AR 1§ A fw



4. HTH TR I o1 @ § 922

Correct Answer :-

. HHR AR & T2

24) BIEY A CHI ISP W I S W ATIE &
Hdz-gde

= BT W AR 7

TR GHY B 9 WIS Ufed § 98

YOS § 39 [yavur & e foran s

fRra s TfeT 59 Hara o @vE

HT R FI 91 & =22

w1 Sfafes § R 7 § A A1

1 el A @ Rrar €

AR & faaht forarat &t

T BT UgTs & - g9 ¢ § AR f{d=

w1 felt ybu A gg 5 ©

AR HeH! B FARG

T AR A, AR T 3R W & 3=

T El Y § TP

@t iR s ft @ g s g A

a1 v BT SRR T giar

YIS § dfpT 30 ot surer 7§

& & 9t Ao sxaum@

R giaT ) gRT 9! A ToRd §¢

9=, 9gd Oi¢ B I

HH W AR F

ST Ui $I Ugh 1 TS WA 9T YA BT IR Ja1s¢l
URH: 39 HiAdT & JUR fhaq 93 9= &TH W A1 R 32
1. Rigy

2. fhRIR

3. dgIn

4. §gd Blc-BIC

Correct Answer :-



25) DS A P! ISP WX T HIH W AT &

Hdz-gde

T FTH W TR §

TR WY B GO YA U § T8

YOS § 39 fJavur & v foran s

fera s T1feT 39 Hara o @)E

F R FI 91 & a2

w1 Sfafves § R 7 § A 1

w1 §IHDT A @ foran 3

I &1 gt frarat st

T ST UTS & 19 g9 U § IR f{eA

wfrR ypudce TS

AR HETHl B gARA

T IR AGH, TR T 3R R & =

T € Y § TP

it iR s @ g s g A

fae AT gaT SR T gt

YIS § dfhT 30 ot surer 7§

& & 9t A sxawm@

R g1 1 gRT ! | ToRd §¢

9=, 9gd B BR TR

HTH W AR F

STT TR P UgHR A9 YR oH T U= $T Sk qarse|
UR: JRAYT 3R ARSI & IS0 ¥ g dfea = @2

1. Fifp I oY Jod TSt JHET U § 3R 3% IRAR &1 Sitad I HHR R R Bl
2. Fifds ITHT BRI B FordT T T 3R I T AT STl 3 |
3. T URIG 1 TieHt 376 Holga! R & T Jord gl
4. TP I 5 HTH DI B H 3G AT G|

Correct Answer :-

. TP I fI Iod 9 gHwr Ue § 3R 390 URAR BT Sita- 3! HHE R R Bl




26) HIEY 9 CHI HSD W I S W ATIE &
{de-gde

T PH R AR §

TR THY P T YATIH iR B 98

WIS § §9 faavur & avs foran wmn

forat s Tnfee 39 gard 9 e

FTH W I o1 I8 § 992

w1 Jjafver A AR 1 & Wt g

w1 St A @ Rrar @

I T et frarat &t

T $TA UgTS F - g9 Y § IR ¥

w1 el Yoy & g5 S @

AR HEH! B FARG

T AR AGH, IR T 3R W & 3=

T § Y § THIH

at iR T ft @ s g A

foe yarTe gier R T g

YT ¢ Afe 3@ i surer a7

¥ & 98 I seaumg@

W 1T 3 FRI HSHT | TorRd §¢

¥, 9gd Bic Bl I

HTH W 1 T3 &

IUed U Bl USHR A YD WF ard U= BT IR Id13|
;g #) fpat Te@! @ ToRd §Y = W W ST IR &2
1.Tb

2.q4

3. BOIRI

4. Udyg

Correct Answer :-

27) PR AP TSP RTAPH R TIIR &
gdg-gde



= BTH W 138 &

TR TUY B YA YA UfR § T8
YA € 3 favor & ave fran s
fRrar s fYe 39 Tara @) @_E

B TR T A8 § T2

w1 Jjafver A AR 1 & Wt A

w1 St A @ Rrar @

I & faaht frarat &t

T PTA UgTS F - g9 Y § IR ¥
w1 et aey o 75 S ¥

AR AEH! B FARG

T IR A, TR T 3R RN & =
T §1 Y § UHITH

at fipx o €Y w1 § 39 gl 2

fore vars giar AR T g

HaTS § AfpT 33 ot surer a8

& & 9t A sawmgE

W g # gART Few! A ToRd §T
9, 9gd Bi¢ B¢ I

FH W AR FI

ST TR $I UgH 1 TR W aTd YR BT IR Ja1s¢l
;"G §1 Y § UPTUD’ HedhR Pid fobT diell & T g1 B a1 Bl o2
1. IqGad Tt

2. HIA IR Bl &

3. Had W & D

4. had IR Tl &

Correct Answer :-
. IuYa it

28) TIgY 9 ¢l HSH W I S W ATIE &

Hde-gde

= BTH W 138 &

AR TUY B Ja YA UfR § T8



YA € 3 faavor & ave foran s
foraT s I1f3Y 39 HaTa $ wE

FTH W I o133 § 992

T Sfatve § R 78 § 9t 1

a1 el A @ Rrar @

AR & faat foparat &t

T P UGTS & 4 g9 1Y § AR f@e=
w1 felt ybu A gg 5 §

AR HeE! B FARG

T AR A, AR T 3R W & 3=
T §1 Y § UHITH

it iR 5 €t @ 8 s g A

ferae AT gYar R BT ghar
YIS § dfhT 3 ot surer a8

f& 8wt el s

W g1 3 ORI HSH! | TR 5T
=, 9gd Bic Bic I

FH W AR FI

ST UL $I UgH A TR WA 9T YA BT IR Ja1s¢l
U: '§ IR A exaHrer @ +fa &1 3 aread 82
1. 98¢ ARG § IR IHH|

2. ST A DIS Tl

3. AR ol gUTad B |

4. I8} Aol At €

Correct Answer :-

. IR S gurad g

29) PIge I H! TSH W I HH W ATE §
Hde-gde

= BT W 7@ ¥

AR U B TG YIS U § I8

YOS ¢ 39 faavur & ave forar s

feran ST T1fe 39 waTd 3t avE



F R FI 91 & =22

w1 Siafves § R 7 § A 31

w1 AT A @ foran 3

I &1 faaht frarat

T P UgTS F 19 g9 TU § 9N /R
FfeR ypudce TS

AR el B gARA

T IR AGH, TR T 3R W & =
T € T § TP

it iR s @ 8 s g A

fa AT gaT SR T gt

YU § dfhT 30 ot surer a8

& g 9t A svawm@

W g1 6t 59RY WSH! | ToRA §U
9=, 9gd B BR TR

HH W AR T

STT U= P UgHR 1Y YR SH T U= $T Sk qarse|
U HewAr f5 ved 72

1. R DI

2. faegTera &1

3. UTffer SARA B

4, EXATS B

Correct Answer :-

. o &t

30) g T ¢P! HSPH IR T HTH W ATIQ 8
Hde-g9e

= BT W AR 7

AR THY $t TG YIS UfH § I8

YOS § 39 fJavur & v foran s

fera s feT 39 Hara o @vE

FTH W I o137 § 992

w1 Sfafes ¥ R 7 § A 37



w1 St A @ R @

IR & faaft forarat &t

T BT USTS & 14 &9 ¢ § 9K f&e=
&1 st y&u ¥ o5 E @

AR HETHl B gARA

T IR VM, TR T 3R W & A=
T gl Y § THITH

at fipx o € w1 @ sW g A2

foeT yaT® g AR Y& gar

YU § dfpT 33 ot surer a8

& g 9t A svaum@

W g # T9RT WS P! A TeRd §¢
9o, 9gd OI¢ B I

BT R AR &

STT U F UgHR AR IR H ard U= $T Sk ga1s¢|
WRH: F13 50 Bfaar & Al & Fel RA B 91 Hvar 82
1. e H

2. ATt

3. gfsar |

4. e |

Correct Answer :-

. SfaRe#

Topic:- General Urdu(L2GU)

1)

: wlsl
:f_.pﬂ{;,c,f&-lgyfu’ LJJEE};J
4 o=,
. N BT
, L,.QTJI.L

el

3. W



2,

i;ﬁdﬂ
3,
. & K.:,

Correct Answer :-
L ,-f"_ i
Z_ K r‘lﬂ

3)

LE(L*u;;b/:,w:?
oty

LG

1.

PO

3.
. Jwé

Correct Answer :-

PO



? ?%KJKJ/’Q,‘GJJ
g)./kfl_,(u.:f' £ J [_,fj v



Jg‘dj v

3

4.

Correct Answer :-

Jg‘dj v

L U
e

2.

, J

.S

Correct Answer :-

8) -
.gf"*_.‘_;‘:.g L,f e By
-
1 IS

S5

Correct Answer :-



4
1.

&uﬁfuh
2.

Correct Answer :-
/f -
L=k

11)

:f_r‘L‘b/fﬁ‘/L,fu/ ‘/!’b;;lf’
Lﬂﬁﬂﬁﬂ



5 JIch)f)j
o
;u'r'ﬁl:f

Correct Answer :-
sl rru{Jl Il

12)

F g0/

PO

+) i bfc-:é’:?p(ﬁ;ffbm
N

1. -

, O/

4.

Correct Answer :-



O™

] Jé‘dj v
S 2L
a,

Correct Answer :-

16)

= ‘L‘JJ:JTLL*}:"”,L?

pals

1.



P

Correct Answer :-

pals

, oA
g

4

Correct Answer :-

1

8) _ %
i £l
Jb

1.
2 By~ o7
Sz

3.

&Mﬁlggﬁ;

4

Correct Answer :-



?%KJKJ/"/JJZ‘/JJ
Jﬁﬁig’ll&)%.&?’qu—’

20)

r:_.:.ﬁ::”ﬁd/if;dagjlifﬁfﬂjﬂi

L_,( e
[_,( Jg‘dj b

L,G%‘:;” &l

3.
A ol »

L S

Correct Answer :-

[_,( Jg‘dj v



—/
1.
P
, U7
=5\
4,

Correct Answer :-

22) P -

< ‘L‘ijuf_.i-;f.fa,l"f
enf
, 8

Correct Answer :-

pals



fos
Uyd
3,

-

.

Correct Answer :-

2. ‘
e
. 08

Correct Answer :-

25) -
u_?{'_f/;.,irﬁdud”;?u’?

J#

, S

3. ‘J&L;

g =2

Correct Answer :-



P Sl nl S

Correct Answer :-

v

7 %LLQIJJ’KJLJQEE;;
1 JUTJ.’!;:L‘Q/@

| ;uTr'LE’JuI

4

Correct Answer :-

2 . . .
Sl bl bd oo S
&L



3;1;%
L eL St

Correct Answer :-

LI

29)
< aos6 171

, Jo
U
oS

Correct Answer :-

30) -
& Kz
"'/4 s

1. S

5 2L
3;%@bu

K d} v

4.

Correct Answer :-

Y3 d} v



Topic:- HINDI (HIN)

1) “feY IH T 9T B PEd & oA v Hfa smer & Wiar fedt fawg &1 quia an
ufaure ve ARy FAeiiu=, Tasdadrn, Wgd iR Teftadr ayT Sazge i 3R Haedl & 1Y
g a1 81 17 U8 HYA frad grRT forar man 82

1. STANS

2. BRAR I T
3. UG
“BCICRINICNK

Correct Answer :-

Correct Answer :-
. HIITY YRl
3) HRTAAH U & <Hg # e d & fraeT gumaze A8 giar 82
1. O fafy
2. A HB
3. BIsd I8
4. T G-

Correct Answer :-

G ISIRSEE

4) fRreor geTa® A, Rieror siftrTy ufshar &1 -
1. SRIGd |

2. Had eI Bl B



3. pad URT Bl B
4. Had YHIfId Bt g

Correct Answer :-

. JWidd gt

5) i< & ATTRAP dAd BIA & -

1. DRIl

2. 3 Ugu

3. Y9 Td faar

4. TR TG G

Correct Answer :-

. Y T4 faar

6) S0 9§ B Y FaYPR $ =0 § URIG 2
1. faenf=rary fay

2. Foarard By

3. GRER RS

4, ARI-ATS Igdal

Correct Answer :-

7) S99 | $I9-91 f14Y BT YHR 781 82
1. GAIPR el ey

2. Hiedare! fay

3. Uifgfde ey

4, qferd ey

Correct Answer :-

. igdard! fray

8) T q HI-HT P 3iicrad fEd & =g gam?
1. 3fhEM



2. 718 HEHI

3. YaTdl Bl
4. SIS Byl

Correct Answer :-

. A BE

9) WSl qrett’ fpd Tt (@uuTH) Fi Tl B2
1. aiye

2. ST

3. UgTSt

4, qdf fget

Correct Answer :-

. Tige gt

10) ‘gTgafer fPaal w82
1. Mg

2. T Hert

3. ga=

4. I A

Correct Answer :-

11) Firg-Rra Uit gyl @ s 1 & SR 9w & gl Td SRV H -
1. epiofar urg St B

2. U g B |

3. WYl gl ¢ |

4. fafaerar ors st 21

Correct Answer :-

. fafaear o s 81

12) T 1954 H Y1 <70 Sfqar ufe1 & durgs & -



1. SI. AR Igddl 3R ST, TSI [
2. 81 THR ¥

3. YR feAax

4. SGIR Tgddl

Correct Answer :-

. B IAEEY TG 3R ST ST T

13) Sfawrel= Hfa e frad smufya «fa 32
1. HRRTST STa kg

2. TERTS BT

3. NI FGA®

4. BAUT TRraTSll HERS

Correct Answer :-

« TR SAfRE

14) fAYUI P STYR W YT F B A & FU 2
1. Tald, LGS HTST

2. XTPTY, ITSTHTST

3. Y&, 3R HINT
4. Tofsra Hmem, SffHfsa v

Correct Answer :-
o THTST v, Sifafgra Hrwn
15) UTSUYRAD T Bl & -
1. SR gt
2. Had UIGIhH Bl aiyd hH I I H
3. had TR & Ul B I HrA |

4. $Id W-3HTTT H

Correct Answer :-

o SWRIad gt



16) taf=ral B Ul | fRrfacs B UTHT BT RITRIE UG HA I Had o -
1. o fafy
2. yqur fafey
3. dTe fafg
4. 9& fafg

Correct Answer :-

. o fafy

17) U S ® ‘Y@iuR S § 97 9 82
1. 8 9 U fera

2. U fafdy feran

3. QR &Y §1T 3@

4. qdfeiRad w=Hl &1 TaH

Correct Answer :-

. qaferRad Ul T HaH

18) gl &1 HTHT @ & T o Ree SRR -
1. YRgA &1 ufehar &1 fawar &

2. el o HUTAD] I T BT

3. §=1 1 ePT o & faIg

4. S 3UAT HTH Rbaaq & forg

Correct Answer :-

. e 1 ufshar &l fawR &

19) WUlteR AT 3] {5 UPR & FEFIGR TH A1 82
1. FAIRIS

2. 3ffafcrh

3. JHfeH

4. UfcrgTRIe

Correct Answer :-

. 3ffered



%o) giEATe Ud $d -dieraa e Agrera few efaeiRie wergey & siiad w smutia

1. TETET et

2. Uy o S

3. URGR GCHTS Ucd

4. Tgig YiTd g

Correct Answer :-

o TETET e

21) AT U BT ST -

1. BTATeR]] U3 SR & fert Biell g |
2. $Iq Jafdad Al & e foman o g 5|
3. 3 & HIeR U3 gagR & R g gl
4. SRR UF YdgR o [Tl gl 5|

Correct Answer :-

. W& iR U7 FagR F fw g g1

22) fafy &1 wahT yrar ot foew sifireafaa o gid 8-
1. Aif®

2. Gidsfdd

3. forfad

4. 3HifTH

Correct Answer :-

23) o9 Sfaal A Hfasidl 7991 7 F3F Py Rygial a1 F&vn & SHR HTod T $1 3, I
T HET ST 82

1. Ao &fa
2. Afdag »fa
3. Had Hid

4. Afged »fa



Correct Answer :-

. Jfofg wfa

24) HTYT fR1e01 & 1T Fa 3R A T vl &1 TR a1 T1feT, 3@ SAIHPRI gl @ -
1. fRieiep 1

2. faegTera &1

3. B &I

4. ATA-fOdT o

Correct Answer :-

. Rig@m ol

25) SfrafF s A TR -
1. Had ST

2. Had faan

3. G
4. AT 3R forgAT Y

Correct Answer :-

o SIaT 3R foramT S

26) IRHM T # TRAMD {5 HeT I1ar 22
1. fafr

2. Geey

3. BXI&R

4. XY H

Correct Answer :-

27) WK T A JUF F gE1ER Bl 8 AT
1. T & 3fd § i 3R

2. TP T H TE 3R

3. TS AR



4. T & 3RY H R 3R

Correct Answer :-

. TP 3fd H Gl 3R

28) FiFaaly A foa ofa o1 <sray &1 fram= s w1 U
1. St

2. T

3. godiia™
4, BrarH

Correct Answer :-

29) 7 & 9 for ggTay &1 313 31U g BT B2
1. U DI U |

2. B BIS T B

3. B I &3 ST I 961

4. PTAT 3HER NG RIS

Correct Answer :-
. BT 3HaR N SRR
30) 9 & & ureg wewH frad § -
1. IWRIad gt
2. Had dIe-fadrg
3. Had YSHN
4. Had AER)

Correct Answer :-

o SWRIad gt

31) P A AT S Ve P STUR UR IR BT BIF-9T Ve 781 22
1. Ty g

2. Y4 didd didy



3. IRA I
4. Igad e
Correct Answer :-

o UM dD dIR

32) FEAA P TeR & = & Qa1 ¥ forar ST 32
1. UTRETR® T

2. 3T U=

3. SFTARS O

4, Jufaae ud

Correct Answer :-

. ST uA

33) g A 9§ -0 fadwar veis 7§ gid 82
1. Uhid &1 T dRIgr gt 81

2. T IR YUl gicht B

3. Uhich! H U € UEA il &

4. Tih! H Uep B 3(ep BIe 5 |

Correct Answer :-

- Ushich! H Ueb &1 3fb BIell o

34) FEffRq iR AT o<’ -
TR iRy sRITe Wg=R g |

T T g g e, A TATaR | |
Afeal Uv yare, e IR HUSA & |

o<1 ffay fagT, Qw v R 21

o S Taig 3, Sfererl sw A
T AT e &, W gff adm Bt
1. GSH T<a

2. BU TG

3. UIER B¢



4. HIOA DG

Correct Answer :-

e WIS

35) forg & g=d) ) W Gadh At Adi 2 -
1. UTS-a%g D1 UgUl hv |

2. AR Taeh
3, go! edt

4. ARG Gdeht

Correct Answer :-

. UTSd-aX] P! TG0 A |

36) Al ) Sierd YA TUT S AR U A B fpar & -
1. @

2. 4dU]

3. UdH

4, HIYO

Correct Answer :-

37) fArefafad d ¥ 919 91 = s gt S8 22
1. T 3=

2. R

3. dHg
4. %l

Correct Answer :-

38) T= UTHT W@ BT &HaT S 1Y YT 31 €1 T8 HY = o A frget 2-
1. UTgdg
2. s



3. TR
4, AT

Correct Answer :-

. D!

39) g Pt Mfafafy afg A ok Iuaitt gRft o -
1. §= ByTat I |

2. I ST EHT ST § Bl |

3. = 3HfUS T Higd BIdR G|

4. I D& H SFRIRIT G|

Correct Answer :-

. 5= 31t W Higd BipR A

%mmmggm%mmmﬁgﬁqwaﬁmmniﬁmmﬂumw’m
T 82

1. =M
2. PR
3. YRR
4. oA

Correct Answer :-

41) I g5 91a B RraaT i gavran SR a8 Ia91 8 it R 9% arg Wi e, ug
frsiae -

1. T o1 R

2. Rreqor & &1 Rrgia

3. 31gRi BT Ryl

4. g9 &1 Rigid

Correct Answer :-

. Mgy &1 Rigia

42) T Hfaar & ey Udie U & =TT ™7 8, 374 I 98 fFae1 ydie g2



1. 318 & fagsiH &1
2. 3G I, SIGATHBI 3R TGl BT
3. Qeild fagig &

4. G el UH BT

Correct Answer :-

. ICH ITG, SHAAIDHIET 3R STl Bl

43) TP 31ex 0= o $1 faRuareii # g # A foa fog @) 78 A wmar 82
1. UI0S HeRH

2. TR U]t

3. UF WG o 3TN o] FHIRT

4. f9aRY &1 grayar

Correct Answer :-

. Tt U=

44) CANCELLED

Pt dfemal d o149 a1 sdeR 32
g e« ufgafaii st

3 g v fogdt v amet

1. V&[T Vg e

2. ST Yeg RMfeRT

3. ST 2oq; Aferd

4. FfAYT Teg QAT

Correct Answer :-
. oo Yeg Xfad

45) o1 B¢ & TS IR § 14 3R 12 F a1¢ fIRw (afh) 3R 26 AEM ) & 39 < o Fea
-3

1. e s<

2. Middp1 &<

3. AT B



4. 38 <

Correct Answer :-

. Tifdere<

46) ‘BTEIE d@d: UHTd & 9 g $T SHHY 7, IUDT Jd i gaiearg g’
ST HY fHad gRI FET T E?

1. YITaceRor g9

2. SRR YdTG

3. IAYRT g fdTar

4, ggTeat adt

Correct Answer :-

- HgTeal aHf

47) FrafafEq iR d s AT o< 82

W, RTTHT A P g A 78 &1 A Al §, vva o1t @ aiik amar e A

I, SET 3 ST Bt FAT G T I A ST TR oIt U g arsan g |
1. HEIHI B4

2. AHTON B

3. FRrafvult o=

4, HIfeH Bva

Correct Answer :-
. HEIPTI B<
48) A BT NS F IR F PeTTATS -

g TP YHR P JUHTHS USY g1 ST JdP H1aary el A fpdt aufe &1, fadiy = 3 frefi v
T YETYSY BT USHTHH & AR Slta-T givd forar sirar 2|

1. IR BIH
2. HETHT
3. XU

4, 3T

Correct Answer :-



49) Wl fawey Famg-

R o1 A g A i ST Y SA T Ped o
1. GRA T

2. 3111 U1

3. TRTE 0T

4. HIH 101

Correct Answer :-

50) gl faPey gard -

39 3idifa Bg Pt faaR-g a1 yra -4RT A s7afRyd v8d &1 39 v ¥ Hia a1 faar &1 faer
Ha: feEars ¢ar 8, 34 3t Fasa wd 71

1. YdY I

2. sy 1oy

3. [RIU1 BT

4. ey w1

Correct Answer :-

. MeyBIH

51) ¥l fdhed SarsT -
TP Sita A &t smut Wud 3t Aewayul wet a1 W F Ppedl gpdl gl
1. DIAT UTHT

2. AFHTST

3. I HIS

4, TSTHIYT

Correct Answer :-

52) FraferfEa dfeaal § S19-91 srdeR 82



TA1-ATE HIET-IH IR I IA-HT1 38 I8 T o g8 I i1l
1. faRleTyIY SR

2. Yifqa™ SicidR

3. ¥dg DR

4. SUHT 3[ADPR

Correct Answer :-

. YUY SRR

2. Y14 dd
3. 3 g
4. VoG A

Correct Answer :-

. foarRd@

54) el faPpey ga1gd-

FeIfy ey g gy o 1 8, R Jifew o 9t faureh A ey Taifie T B 2
1. gf vy a1 foaRIdsis

2. ST U I I<oIh

3. ISP 3R HSHTS

4. g UYTH g1 foeRoie

Correct Answer :-

(-2t I ERINCEINGEES

55) ﬁﬂﬁa'-'iﬁag;;ﬂ%‘s’mtrﬂ%m faeiie-aiva aft oo giar 31 T Fawl &t v
|

1. TR
2. TNt
3. SffaRmgTgUl



4. It 3R GH® IR

Correct Answer :-

. Taa 3R % TaER

56) 3R Uit & 3faer-aa- § AU & AHTT BT AT 961 3| $S AN & AR
i &1 Aiiefde sfag-aa Iifg-=ul &1 uRadAHar & sieag= R nuTid giar 81 367
Fe ¢ fo aifew &1 sfagra aift-+=ul &1 sfag™ 81 eM® 3rdf # g ud) 81 W faemsy &1 =g
3R ufvad= ve Ry e e & a1 21 Ue STaafy & 91¢ Wiftd-U dad ora &1 3fER
39 9¢ATd & $© UATTRIS FRUT 1| § RN Dt Wil & AU | Aiiecd BT THIS-HYT g™
T8 g

Ufvsde Bl UgH I 3T Y vy &7 Ik fafae:

TR & AR faunsi &1 wa+ iR ufkadq #a gars?

1. gRaaHHar #

2. PIA-FA H

3. TS Ygad sfigr |

4, fafRrs CfaeiRye uRfRufadl &
Correct Answer :-

- fafm Afcerhes fefufaat &

57) SR It & sfAgTH-ad@ § HTo-FUl & I BT 3TIE T 81 TV AN & AR
Tifgcd &1 Aifefe sfag-ded Aifitd-=ul &t uRadamdr & regaa R nutd giar g1
3T Bl ¢ Tife &1 sfag aifd-+=ul &1 gfag™ 81 3M® odf # a8 98 81 WR
faenait &1 Ta= 3R uftad+ e faflRy tfagife ey & g1 81 ver Sremafy & a1¢ Iifiga-&v
dod ST € | 3R 39 Iea1d & o USRS SR EIN | 39 FRUN B W & 3r4Ta A g
BT HHIS-HYS S8 T8 §RT|

T3¢ oI Ugex - fau T Uy &1 I« fafew:

5 SR B G F AU § WIfe ST THTe- Y e 781 8 gPan
1. 3fdgr e

2. 3T &b 3T

3. BTU-EUl & T

4. HITgd-FUl & dgardl &b HRUI

Correct Answer :-

. IiE-=Ul & dgadl &b SR




3R Al & Sfag-aed § STH-FUI & AT BT 3MTIE T gl PO Al & HATJIR
Tifed &1 IIfefe sfogr-aad Aftcd-+=ul & uRaddaEdr & ea= W) nyTid gidr g1
I9PT BT © & aified &1 sfagr aitw-wul &1 sfiem R R auf A ag T 81 W
fauran =1 9= 3R ufad= v fafiy efagiRie dey & gia1 81 ve Sramafy & a1 aifigd-=u
I5d ST € | 3TN 39 95019 & $o AUASTRIS SR EIN | 37 FRUN B W & 3r4Ta A Tifiee
BT JATS-HYad Sfag™ 81 gi|

T3¢ B UgHR 1 feu e uy &1 I« fofae:

T TeliRT 1 3 =i 8 gar 32

1. JHNS-EYed TifgQfas

2. BT 3R sfagT™

3. e 3R aA

4. RymTd ufkada

Correct Answer :-

59) 3R AIfecd ¥ sfAerI-AT" ¥ S0 & AU BT 3MUE 9¢1 8 | TO AN & WATAR
Tifgd &1 Aifefde sfag-aea Aife-=ul &t uRadaEdr & reraa uR nutRd giar g1
391 HeT ¢ [ Tt &1 sfag -l &1 3fag™ g1 8F® odf # 98 98 81 W
faeran &1 7 3k uad= v Al et deu A giar 31 ve wramafy & arg wifew-=u
59 ST € | 3R 39 95019 & $o AUAsTRIS SR I | 37 FRUN ) W & 3r4Ta A Tife
T HHIS-HYT idgT T8l R

TRwg B Ug@ A AT 1T vy 31 I« fafae:

TR & AR {54 gqara & i efagiiRie SR g
1. faemaft

2. Sfagy o

3. Uifgcd-=ul

4, VTR dau

Correct Answer :-

60) 3R AIfecd ¥ 3fAerI-AT" ¥ S0 & AU BT 3MMTUE 9¢1 8 | T aNN & WATAR
Tifgcd &1 Aifefde sfae-aeT Afe-=ul &t uRada@dr & regaa uR nutRd giar g1
391 HeT ¢ [ T &1 sfag -l &1 3fag™ 31 8A® odf # ug 98 81 W
faunai @1 v ok uftad= ue Ay AfeRie dev # ga1 @ | v Sramafy $ 91¢ aiita-+=u
59 ST € | 3R 39 95a1d & $o AUASTRIS SR EIN | 37 RN ) W & 3r4Ta A Tifig
T HHIS-HYT idgT T8l R

U= i Ugdr H1d feu e uy &1 I« ferfau:



TR & AR Ao & FTag-ad@- | fhad a1 &7 ATUE 961 82
1. B!

2. BRUN &b LT

3. HIAF-UG

4. UfaeTiRie ey

Correct Answer :-



